ST 6 FHE

10RA1TEFRE

EHEE AT E /N R EEAR /N AR SR T
Je FED H
BT H
A fRE A /N D Ukt .
2 | & IKTGE DV B MR A AR 14:30
T BRI NSTR = — /INREENVHAERS | ELS M2 13:45
3 | K74V 2%y FU—2@ JN3~15130
FEEEMR '
4 | & EEPE S HIESE S INGIR = — rhoRs Eh = & /N 13:45
SSW H15:30
5 | &
6 | H
7 | A HEEB A INREERIE /M 13:45
/NE~15:30
8 |k IR EE R E H2mkERER@ /N 13:45
3R ERBRO /N2~ 15:30
\ EE] A==
9 |k AN TANES ) REHIE Ak 14:30
10 | & DO HLTA VARG /NSRE R E /NARE RN E /N1-2 13:45
KT = AKX I3 = — /\3~15:30
THES /NG - B EHIE /N 13:45
2 PR = — h16:30
12 | +
13 | B
14| A AR—YDH
15 | % SEME/NAZTO BT E LN THG) /1 13:45
GaRTiE N0 /2~ 15:30
R s E]
16 | 7k ISR AR 14:30
/N6 VA HITARES /N2 13:45
17 | R /N3~15:30
18 | 4 [ H/ 2R T B NG = — 8 PNFEESEG) N 13:45
o 15:30
19 | +
20 | H
o1 | A N E /ME 13:45
/N ~15:30
22 | & 2R SRR T-fif B /N 13145
ERTE N HG) /N2~ 15:30
N 2230
23 | & MBI Ak 14130
o1 | A AN e € INSTR = — 5 /NGRS BN E I /N1+2 13:45
fa R e /NS AE THRIR 2 /N3~15:30
25 (jé /J\67|?§’§j]%($7(ﬁ% /J\6$§,§j}§j{£%k /N 13:45
SSW INTR = — 5 B 15:30
26 | +
27 | A
/M 13:45
28 | H JINE ~15:30
29 | % BN H1T D& B AR GRE A - 1) /N 13:45
/N2~ 15:30
= B e
30 | A IRE RERE B HEE R B RS Ak 14:30
31 | A ANV anEEY S INSTR = — 5 INRE BN E IR /N1-2 13:45
2V ENE[O) /N3~15:30




